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QUESTION 1

John works as a Programmer for Technostar Inc. He writes the following code using Java. 

1.

 class WrapperClass{ 

2.

 public static void main(String[] argv){ 

3.

 String str2 = Double.toString(12); 

4.

 String str1 = Double.toHexString(12); 

5.

 System.out.println(str1+str2); 

6.

 } 

7.

 } 

What will happen when John attempts to compile and execute the code? 

A. It will not compile because the Double class does not contain the toHexString() method. 

B. It will compile and execute successfully and will display 8p312 as the output. 

C. It will compile and execute successfully and will display 0x1.8p312.0 as the output. 

D. It will not compile because the Double class does not contain the toString() method. 

Correct Answer: C 

 

QUESTION 2

Peter works as a Programmer in Magi Net Inc. He writes the following code. 

1.

 class Ques0190{ 

2.
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 public static void main(String[] argv){ 

3.

 byte a = 100; 

4.

 switch(a){ 

5.

 case 10. 

6.

 System.out.println("ten"); 

7.

 case 100. 

8.

 System.out.println("hundred"); 

9.

 case 1000. 

10.

 System.out.println("thousand"); 

11.

 } 

12.

 } 

13.

 } 

What will happen when Peter attempts to compile and execute the code? 

A. The code will compile and execute displaying hundred. 

B. The code will not compile because 1000 is not assignment compatible with a byte data type. 

C. The code will not compile because the argument to the switch cannot be a primitive type byte value. 

D. The code will compile and execute displaying hundred followed by thousand. 

Correct Answer: B 
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QUESTION 3

Mark works as a Programmer for InfoTech Inc. He develops a program that defines a class named 

Inventory that has an instance variable named NumOfItems. Which of the following properties will be 

applied by NumOfItems? 

Each correct answer represents a complete solution. Choose all that apply. 

A. It will not be visible in Static methods if it passed as a parameter. 

B. It will be visible in Static methods if it passed as a parameter. 

C. It will be available for all the instance methods of the class. 

D. It becomes available for garbage collection if it is no longer in scope. 

Correct Answer: BCD 

 

QUESTION 4

In which of the following directories will files be searched when the classpath is specified by the syntax below.-classpath
uc\JavaFiles\NewFiles;uc\ServletFiles;.; 

A. The current directory, the NewFiles directory, and the ServletFiles directory 

B. The current directory, the uc directory, the NewFiles directory, and the ServletFiles directory 

C. The current directory, the uc directory, the JavaFiles directory, the NewFiles directory, and the ServletFiles directory 

D. The uc directory, the JavaFiles directory, the NewFiles directory, and the ServletFiles directory 

Correct Answer: A 

 

QUESTION 5

Which of the following listeners causes an object of the implementing class to be notified when it is added to or removed
from a session? 

A. HttpSessionListener 

B. HttpSessionActivationListener 

C. HttpSessionAttributeListener 

D. HttpSessionBindingListener 

Correct Answer: D 
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